Day 4 Practice.notebook

Multiplying and Power to Power Practice

1.

10.

11,

12.

a®- a®

x5-x

52 . G4

m? - m* - m®
x2- y3.y?
(3m*)(2m®)

(—5m?)(-2m?)
(6p%)(8p*)
(2x%y)(3xy“)

(—2a?b%)(3a*)
5x%y%(—2x*y®)

(—8n?m)(3m*n®)

13, (x%)3
14, (a%)?
15. (y3)*
16. d?-(@»*
17.  (xy)?
18. (x*y)*

19, (2a?b3)?

20. (5a%)?

21.  a® (a’h)*

22, x%)*

23. (3*) (3%)°

24, (25) (2%)?
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Algebra CC
Multiplying Monomials Practice

1. m- m® 16.  (a®*b®)(a’b®)

2. (2cH2c 17. (5m*)(3m?n?)

3. (=7xy)(—2x) 18. —3x2 . x3

4. g~© 19. y~8

5. q° 20. (a )%

6. a ?h? 21. —6x "4yt
o 7xy 9z 22.  (—10x*y*)(3x%y)
T8 (=36 23, 5m=

9. (~8ab)(a?b®) 24, 372

10. (x~3)(x?) 25. (5x)%

11, 12m~®n* 26.  (-3y)®

12. e’y 27.  (-2)°

13. (b3)(b~*) 28. (—4mn)*

14, o 29, 5yt 2

| 15. (=7xy )(-2x ) 30.  (57%)?
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Zero and Negative Exponents
Simplify each expression: Write each with positive exponents.

¥ 1. a* 13.  {(2a”)(5a")
2 _ 14.  (-3p™)(p?)

3.  a’? 15 ——
4, c?p 6. (3d*)(5d%
5. ¢® d* 17. sfes®.s’
6.  d%* 18. ~=

\ 7. mfem® 19. m__;‘m
8 a’.d 20. a’e.ad’.d
9. rl.r? 21. 5%.5*
10. n?.n* 22. rfestest.pd
1. x7 e x’ e X° a3 n®.n’

12. —
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Integrated Algebra
Negative Expohents Practice

A
l\

d :L mﬂ m-—S

2. r3.r’
3. a’.da’
4, x'exTex®
5 n3.n*
6. (2a°)(5a%)

{ 7. (-3p) (2p%)
8. s’ s7.5
0. =
B

12.

13.

14.

15,

16.

17.

18.

19.

20.

21,

22.

23.
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Misc Review

Polynomials

1. x%*-x°

2. (—2x)°

-
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9. (3a)3- (-;-4a)3

10. (8m?)? G m2)2

11 20.?63}' . _ny
T 4xy? -
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Algebra CC
Polynomials Practice
Simplify each expression.

4x3y3  5xy3
2xy 2y

1)

36a%p? ab?
ab ' 6

2)

6x2y?  (4x?y)?
xy3 1 xy?

3)
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| ) xp(mcnt Rules Name

Directions: Simplify the following expressions using the rules for wur!ung wllh ux.ponunls When
finished, find the letters matchmg your answers in the table, and decede the hidden message.

- ’? l L] .
1. xPex’ = 6. (2x) = | -
(2xy) 1 11. (ﬁx) 6. [3{) )
+ ) Y
2 - = x a ] X
- 12, == =
X 3 5
yJ g < ['?‘ E— —
x X
3, = 7 N2 J.f,'i
X 8. 3 EJ = B == 1)
v w (3] -
g
¥ 19, 22 (2x)°= 14, st = 105"
' 19, —=
5 {x’)s e 0 IOAA = 3 *
v 15, 2{xy)’ - 510
20. 2 =
P ——— s - S e — e ' g W — : - ] - 1‘0
A C: 2x' D: ) E: 7 F: 25"
S
3x? 2
* ¥ I = 2%t M: 2 !
H: x y; ) L X 042 N X
O: 82*)* P o10x°y R: & S: ¥ T: %:'J-z—a
B ax?
U: x W: '}T xX: X Y: 2¢ 1D x*
95 6 17 17 8 8 9 8 20 1 10 1 3 11 18 14
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